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1| TERRET % 1 5,000
2|RIL 2 THHEI= 4 20,000
3|AO{E—EB 1 5,000
4| EHERETF 1 5,000
5| ti/5 1IE T 1 5,000
6|/ KBERF 1 5,000
7|V UNO—&FEEES 4 20,000
8|/ \—R—LXNOFEA>H —-RAS5F—HES 2 10,000
9|SHEE SFANIEAN 1 5,000
10|1BFE 2 = 2 10,000
11|{FEES 1 5,000
12| HEE 1 5,000
13|#aAiEE] 1 5,000
14| AR = 1 5,000
15| ABETF 1 5,000
16(E)FEF 1 5,000
17 |BERARENE 1 5,000
18| =TT %6 1 5,000
19|z AEENTEEY — EXEIH 1 5,000
20| A XFHRE FEARIE 1 5,000
21 [FiATE 1 5,000
22 [{REEFIR 2 10,000
23| KSR 1 5,000
24 | ZZEARZE 1 5,000
25| —ARKH= 10 50,000
26| BIETF 2 10,000
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27|@ENIOEE KF E)IHEA 1 5,000
28|BEFEB 1 5,000
29|iAR4 TEMEEEBES 1 5,000
30| A 2| 10,000
31 |(HESEBWEARLS 2 10,000
32 [ INEEAA 1 5,000
33[RETETE 4| 20,000
34| KHEAF 2| 10,000
35|kHIFEH 2| 10,000
36|@YAADO—RL—> 3> KREUEHS TUIAE 2| 10,000
37 | —i2s% 1 5,000
38|MEOEES 1 5,000
39|88 AFE K 1 5,000
40((ENNNEAFE et 5 — 1 5,000
41|FEETETS 18| 90,000
42 |w7EE 1 5,000
43 | B ERIR 2| 10,000
44| KFHERIHE 1 5,000
45| ERES 1 5,000
46|HE LA 2| 10,000
47|81 2582 1 5,000
48| SEEES 1 5,000
49|FEK 1 FEFS 1 5,000
50|hEA 2 BEES 1 5,000
51|B5 4852 1 5,000
52|55 IES 1 5,000
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53|IHERES 1 5,000
54| BARFREF= 1 5,000
55 RSB 1 5,000
56| == tHS 10| 50,000
57| vILY > O—REs BEES 1 5,000
58|=EIEZ 2| 10,000
5o|ErEREIL 2| 10,000
60| ERAET T4 2| 10,000
61|15 E D T IERITIE 4 AT 2| 10,000
62|77 AU — I EM® 1 5,000
63 | B8 3 1 5,000
64|[FENPREE 1 5,000
65 [IERA{E 1 5,000
66 |t - ShESTERS 1 5,000
67| R UTIERBE 1 5,000
E&371% 51| 255,000
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